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B'A' 3rd Semester (Honours) Examination, Z0Z3 (CBCS)
Subject : Sanskrit

Course : CC-VI
Time: 3 Hours 

FulI Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answer in their own words
as far as practicable.

1. ernftrnqis e*E sqiRErE E?TeflHtgmimer+i*Wr+rEqr Mftr,qT E stqq t Zx10=20
frvfrRru s{Bfr-f, rc<I fi" @w ?YE efr.rm Bsr {rE {eE \e-NtT s 6q-<-{tffi frf1e. fr{r E.u r

(a) "q,rai TrHqei-fl{r(,' gffiT eiai*.nqqg qlsef:?

"q.rai flEqaiffi{r(,, q{r(T st-Ercl-{ "rffi< qqf fil
(b) srergT rffi t61?

\TlD]T'<lT6{-< {N $](<I{ Arilq4 f,l
(c)@sjt6-:*g.:?

q.ffi <'Nrqts sfuTr-{ r-cv 60 Cq$r

(d) rt6ffi r{sr q*irt q qwrFrh" 
- Eiry{ trhqil Trq lfiv

"Eilql r{sr nqtuf q qr6qrsTfr',- .qriffi cqrs oqil-< qqf fil
1e; gwtFu fnq?

1vER frT

(0 T€rs Frqrui t*.q? qEj *,frhqq?
,tm]3[ qs'6f frr qqr $T efEt-sz

(g) M+: qriurer wrurs q {*nr qc.{q. 
I

c<?ffRs $r< {-rtcf s q_rrc{-{ {rcsu aqfi sTsl I

(h) IFE{T: *'7

s+-q-{ mt+rfrr

(i) Ttrs<: @Z
I_€qq <EN f; mfc<tr'r

6; wutfr: emut @?
E"rff& qey.{ qsq fiz
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(k) "@ rrfr d lgrqt" - 3p1 "epgf}lqq-qff:,, qfr qq3q 3Te-f: *-:?"@ trn d* Tgqt,,- e{rct ,,er=f.Itgrt:,, 
"[t_f, qqf fil

0) ffi:ErQTuifoqZ
qfurilfu qErc-rc{f, qm"f f,r

(m) "sr*mn+qqtdqfl rgil€q rtqreFrr,,

" cr+f,rqtq+dqTr r6ilq rRrFFII,,

(n) Fd'Erea;n: qftfrq:? *.q tZ
GR q-Ercr{ ${ er$.k e fr frz

(o) nrrrei-fi{s erqrui fqZ
merstErc-rcr-{ Em{ fir

- E6T{ rf-nq vtrdril tfr -r<*: e{ef: s-:?

- q<ilrq 'n5-il*4' q<( 'qq;-;qq, 
"m Rfr{ qqf f;l

.*rdfutg q*g *qi*-q @uer;ngrr e.r fu uravfu q{e*iqilErr* ffiqqr
5x4=20fiHBfu ${sfrn n-fir ffi @w DL.?fr e[,.nr{ E=.< frcs << | Er{ Tc<]. rv Rwrtr aurr{ Esr{.{E qqE vRtT &ol(s qr< 

I

(a) qrqIilf,rq -_ {r1 qlrgqfeq.q-Eq', 
r

<fi?fT $rfl - 
{rq 

$rsqq6+qri+q,,r

(b) qrw.Frflq _-_ ,,ffi615i 
ffiq-qq,,,

Tt?Jl'f W<t - "ffiq ffiq-qq,,g
(c) oqfu**s REH: Erqrui {ilErilpi qrderqr

fr m'rr{t esB qrq-{ e$.q fi.ktqrq <rtqlT +rfl I

qrFtfr,q,H'ftrilerffiq

(d) tiurfqwqg'cw{ e-{ffizi gp r

E{kgtt +23 Rr fift $r.-<.il

etefr fd q,qT ffiq qg

irqEr {ihq fuE:
vrd qqri &vR: ]rsrq
qerffimqq qel-mffiqr n

(e) gwrqfTqri-{q}, t-qT+* fr61Iq I

IBB s fiq.iil qErctLTT Fq E q6sq frmqq s_mtl
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(0 qri*,rfr fTUtqHIt

qErct< fr'fu sml I

enrdA qrrEqus qtqquffRrda I

*ffiqr-o E-rfiq,rq qrtatt

3. erdrFoFsilS q*5 6drR-eq rd; s#iqrt sffitl tax2-20

ffif{s qqefr-< TC{l 6r c{lqt ffr ffi'l EE< frcs qe< t

(a) "tflC{nq +.releT"-EH{z[ ilHEi f6q"'6pq1

'fif6q1ffi q1qg"- Wfr{ uqq{ fi-m"iq smt I

(b) ,,er]d[ fdur qq)irt e qr-qrqfi', - qfl-{ fqsr: q;I:? irR{i fqur{ Erql$d qfuqrfliilqt

'1ffi f{#r nq;tufle qr-alrg.rfq" - .q{ffl fiqrp{q$f f,z frqr1a{c{{ st<nqq aB"ilq-{ sTst I

(c) etq-*qr dq1{Q{ftri +rfd 6;q1ir: EI(r{ @t
bcrq-<qt s <i-rqR-o qrfi-{ Es"t Bdq<qqq qlrq'lb-{'t $Tst I

1a; wrne*ar<rurir: 3rcfmr$i: rttpi @t
Gqil € qqfuTqitq q.q($TL<-{ Esct EqE{qqq ql-cElD-qt s1T't I


